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THh2k2| o 17,095,000 2,249,000 14,846,000
< 11,577,866
Al 5,517,134
OB (ZELXI SN /2=XH) 17,012,848 2,166,477 14,846,371
< 11,577,866
Al 5,434,982
222 (AE=AILSEZAH) 4,312,848 2,166,477 2,146,371
< 147,866
Al 4,164,982
ANES STHIHS 3,364,908 1,351,230 2,013,678
101 Q14 H| 7,328 10,500 N3, 172
04 JIZIHI22XsE% 7,328 10,500 N3, 172
OANAEE ST MFAE WSOt 212
36,6408 * 2% « 100Y 7,328
201 L Bt2HH| 35,380 44,730 A9,350
01 AFR2t2l ] 31,980 41,730 A9,750
OANZRSABTH Bt=Z 2l4f 1502 * 100, 0000H 15,000
OSMMFEX B L ASHOHLHE HI&
200,000 = 10H 2,000
OSTHMFZ QHXMALD OB QHLHEH HIZ
200,000& * 10K 2,000
OSTHMFZ HXMALD OB & =0 HIZ
60,000& = 204 1,200
OSTHMAE SEHH 22,0008 * 50004 1,000
Ootd Ul g EX T AL
300,000 = 1074 3,000
OFJAZZ 1=l 1,600
—8=(=s.5t7) 100,000 * 4% * 23| 800
—gst=s(s21) 200,0002 * 4% x 13 800
OSMMFZ Xt SX2e
500,000 * 204 A 1,000
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—STHHAZI20IS T224 I X2
50,0002 * 8AIZH * 50744 20,000
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= 75,000
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01 Al&t| 148,920 0 148,920
OSL2H S2X ZUIBA
750,008 * 200m * 99.28/100 148,920
= 75,000
Al 73,920
03 Al & = CHH| 1,080 0 1,080
OSL2H H2X ZUIBA
750,002 * 200n * 0.72/100 1,080
2R B X O HHI AN (X4 AP S 31 H) 12,700,000 0 12,700,000
= 11,430,000
Al 1,270,000
YFEHTA AL () 12,700,000 0 12,700,000
= 11,430,000
Al 1,270,000
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& 11,430,000
Al 1,239,694
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L= 11,430,000
Al 1,210,554
03 A& 20| 29,140 0 29,140
Ogxd FHASZUIAE 2l
12,669,694,000& * 14! = 0.22999/100 29,140
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HEEE 23| 82,152 82,523 A371
101 @124 H| 71,668 69,220 2,448
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O&dz2=¢ 125,131,000& * 1/12 10,428
OZ M gAH| 130,000& = 4% * 128 6,240
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125,131,000& * 1/12 » 60% * 23] 12,514
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(OF2E=PNE= 30,000 » 18 = 123 360
ONE=H 3,840
—H 2 & 40,0003 = 4% » 128 1,920
—S22AIE 20,000& * 8% » 12& 1,920
OXHSHIE XY 4,086
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303 Z& =2 10,484 8,263 2,221
02 d &= 10,484 8,263 2,221
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